LESSON QUIZ TRANSPARENCY

8-8 Solving Radical Equations
and Inequalities

®'Lesson Quiz

Solve each equation or inequality.
1. 7+ V2x+4 =13

2. 3Vx+4 =V2x—-17

3. V2x+12=x+2

4. 4(x - 5)7 = 12

5. Vx+5=4
6. The radius rin feet of a spherical water tank can be
determined by using the formula r =\’ 2—‘77/ where Vis the

volume of the tank in cubic feet. To the nearest cubic foot, what
is the volume of a spherical tank with a radius of 32 ft?

Copyright © by Holt, Rinehart and Winston.
Al(l)ei{)ﬁs reselyvec?. menart and THinston 544 Holt A|98hra 2



LESSON QUIZ TRANSPARENCY

8-8 Solving Radical Equations
and Inequalities

®'Lesson Quiz

Solve each equation or inequality.
1. 7+V2x+4 =13 x=16

2. 3Vx+4 =V2x—17 x=-5
3. V2x+12=x+2 x=2

4. 4(x—5)7 =12 x=14

5 /x+ 5=4 x=59

6. The radius rin feet of a spherical water tank can be

determined by using the formula r =\’ 3V \where Vis the

41’
volume of the tank in cubic feet. To the nearest cubic foot, what
is the volume of a spherical tank with a radius of 32 ft?

137,258 ft°
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